
Pre-Calculus - Honors

Homework #52 Answers

Frran lla{thton-Hifflh Pnecch*s: 3d Editiun

p381 -302:
3)sece=€, sino =-ElZ

cos o = €lz,csc o = -E,,ton o - -!,cot o = -1
4) ton x = €/3, cos x = -#l/2

sin x = -1, csc x - -2, sec x = -2/'{t, cot x = .J3

26) sin2 x(cscz x - 1) = 1 - sin2 x = cosz x (c)
29) secz x - 1 = ton2 x = sin2 x. 1 =

sina x sin2 x cosz x sinz x

Lesson 52

= secz x (e)
cosZ x

64) secz x tsnz x * sec2 x = sec2 x(tonz x * 1) = sec2 x(secz x) = seca x
67) tonl x + 2ton2 x + 1 = (tonz x + lXtona * 1) = (seca x[sec' x) = sec4 x

T7\ crlsx +1+sinx= cosz x * (1 tsinx)z =
1+sinx cos x cos x(l + sin x) cos x(l * sin x)
coszx+1+2sinx+sinzx= 1+1+2sinx = 2+2sinx =

cos x(l + sin x) cos x(l + sin x)
2 =2secx

cos x

80) 5 rtonx - secx= 5(tanx - secx)= E{tonx - secx)
tcnx+secx tonx-secx tonzx-sec2x -l

= -5(ton x - sec x)

el) .ET = .m = 
.,EE-a5;I;% 

= .Esti;;F;i 
=.ffi=5coso

cos x(l + sin x)
2(1 + sin x) =

cos x(ln. sin x)


